
�����������	�
��

�
�����������	�
��
��
�������������	
�������
��
���������������������������
���

�����������������������
��������


����� ���
� ��� 
����� ����������� ��

��
��� ������� �� ����������� �
����

��
��������
���������������� �!
�����"

�����
�����������
�����#�����������"

���$��������
���
����������
��������"

����#��������%����#���������%���������"

������������&����
�����
�'
�
��"������

���������$(�#�� 

)����
�������$�������#�����������

#������� ���� ����������� �� ��� 
��
�

��
�����������������
����������������

%�����������(�
�����
��
��$������

(���*��$���������������������������$���"

�������������������
�����������$�
��"

���+�
������������$�����������������"

$����,��$���
�����$������$�
�������"

%�� -������ ��� ��%����� $�
�� #�����

.�$�� ���������������������������/

0�������
������'��
��$����$�����

��������� ��
��������������� ��$������

�����������
������,�����'�������
���
"

�������������#���������%������������


��������1
�$����#�������� 

���������	
���
�����	��	�����

)��������������������"���$�
�����"

�����
�����������$�
�
������
��&��

������%���#������������
�������������#��

���� �2
� �� $��3���� ��
������
����

�������3������������� �4�#����������
�"

�&�������
������������������������$��"

��������������������
��&���#����$�
��"

�(�
�����
��������&��� ��������������

����#�������$����$��,�������
�����������

������ �5�,�����
���������������$���

�������6���%�����������#�������������"

������$�
�������������������%��2�"

$��������$�������������%�������������"

���������������������������������������$ 

7�������� '� ������ ��������$�
����

�
�����
�����������������������������

���#���������������������������$����"

�������#���������#���$���������
���"

����� �
�� ����� ������ �������$����

���
�����$�����������8����������

�
9:
� � ;
���$��� ���������� �
� �
�

������������ �5��"���#����
�
�����'����"

�����������	�
��


<������=�����<���2�>

=��$�������� �?�
�������<,�$����=��$����,��$�����@�(��

����������	��
��������A���
���A�=��$��3�����A�-���������A�.���������

�
��
�������������������
��$��$����������������
�������%��%�������B���*�������-���������

��=��$��3����������$���
�����$�
�-�������.�$���������
�'
���.��������� �����������������

'����������������
����$�������������������������%'�������
�� 


�	�����(�����������������C�������<�
�
�����%������
D���������<=0 
>�=��$�������� �?�
����������������<,�$����=��$����,��$�����@�(�� 



�����������	�
��

�> �����������	�
��
��
�������������	
�������
��
���������������������������
���

����������3$�������#�������'
���
��
�

���$�������
������
����������%�������"

���������������������%���������(�
�"

��� 

�����*������$(�
�����������%�����

#��������������,%�������#���$�����
�

��������������
���������������������� 

�����$�������������$,������������� �

��6���%�� ��� ���� ��%����������� 
�����

#���%���%��$��(�$������'
������������

�� ��� �����1�$��� ��� ��
��� ����� �� #��

�$����$��+���
�����������������&���#��

�(���������*�������#�������#������#��

��
��
�$�
�
�$�
�������
��� �?�����

����%��������������� �*�����������#��

�$����$��+���
���$�
��������#���#���


�����$�����#������������ �4����$��3���

�����%�� ���� �����&��� ��� ��
�� ����$��

�
��������������
�����$����� �5�,���

���*�$���
��$���
��
����$���
���#��

$(�����������������������������&��������

�������������
��&��������
�����$������ 

<�
������������������������$����������

(�
�����������
������
��$��������


����
����� ������%� � =���� �� �������

����$��������������&���$�
����	
�	��

�


������� ��� �
���
�
�
� ������� ����������

<,$������02��$� �E�
����
����������

��#����������
�������������������$�
�


������������������$�������
������63"

%��������������� ������������#���������"

��������������������
3���������'�0��"

��� �������(�� �� ��� ��$��3���$���� #��


���2
������������%������������'��$�

�������������������������� �4���������


��
������$����$��0������������(�����

�����&������$���
�����
�������������

����������������%�������
�'
��������"

�������	�
3������#���� 

��� #����&��� %�������%��� ������ �

#������������
�����$��&�������������

�������(�
������������������$�
������

�������������
������������������������"

�*��$� � F� ��������� �����
����� $�
� �

����%��������
���#���������������
�����

����'$����GE;;;�����
�������������$���


���������������� 

�� ��
�� ���� ������ ��� ��������� ��

�����$�
�����������������*������������

�� ������������ ��'� ������� ���� � 0�


�����3"����$�����������������%��������

��� ��%��� $��������� ������ �� ����� 

0����������������������
��#���������"

������
���������
���������������������

�����������
��������������������������"

����3%��������������������$����� �F�����

���
���������#�������������������������

#���$(�
����������
�����#����*��$(�"


�
�������
��&����������
����� �4��

$�������������
��&������������
�����

���������&���$�
���
���2�$��������
�

#������������%��$����������#��������"

���
���� �
� ��'���� $������ �� ��������� 

����
�����'�������������������������$��"

���
���������
���� �5����%����$��"

���
��������%��������������������$�
�

������63%����������H��������63��������"

����� $�
� ���� ���$������ ���,������ ���

�������� ��� ��������� ����� ��$������"

���� �0�������%���
�����������������"

��� #��� 5���� '� ������%���� ��� ��'���

$����������#�����������������3����������

������� �4������������$���
�����
��"

�����������#I���������������$����������

$�
�������
��
����������%�����������


��
����%�����������$,$������
����

(�
��� �4
���������������#����������"

%�$�� ��%���2�$���� �
���������� ����

$��$����������
�5��������
��������

#�������������$��������������������
"

�����������
�����#���$������������$�"

�(������#�����������������
�
 ������"

�������������$�����������������������

���������������
��
���������$�������

���$��(�$���������$������3%����������"

��������������� 

4����$�
���$���������������$����

���������������5�����������$������������"

%�$�� �������� #��� �����,�
��� �����

����������� �=����������������������%��

E;������#���75��������������
�����'

$��������������$�
���������$�
�
���� 

=���� �� #��� (3� ��� ��
� 4��� '� �� H��$�

�������
����������#���(3����
���'����"



�����������	�
��

�J�����������	�
��
��
�������������	
�������
��
���������������������������
���

$������$���������$�������������5���8 

;����������%����������#���������������'

���5������������
�������������������"

$��
���#������� ���(�������$���������

5��� �)�����$�����������������������"

����5���������(�
���������,�
�����
"

�'
���
����������%�������0���=������7�

���������� ���� (�
���� '� ���$���� ���

��(������5���������������������5����'

�����$����������(�������(�
���8 �=�����

������
�'
�#�������������������(�
���

'������$����������(�������3������#����

��������������3����'����$����������(��

����(�
��� �;����������
����+�#������

��������������6���%���������������������

��$�����������#���$����
�
���$(�
��

���%������������,%����������������
��"

���������$������
�����6�����+��
�������"

������������$������������������%����"

���� �K����"�����������
�������������"

����#������$�
��(�����%����������#���"

��������������������6�������6�,������%�"

��� 

F���
���
�����#���������#����&��

��$��$���3%����������������������
�����

����������
�����(�
��� ������
�����

����'�������$��������$�
���$��������

$��$���&������������������
�����#���"

��������������#������$����
��$(�
��

�����%��������
���� �?���������$�
�"

�(�� ������� %����� $����������� $�
�

�
�����'$������������(�
���������'

�������
����������������������$(�
�"

��������
����������������� �4��������"

%���
3��$��'������������������$������

+�������(�
���������$����������
���"

���(�� ����� � �#��� %���� ��
����� �
�

�
��������� ��������� ��� )�����$(�

�
LL
���7'�����������(������'
��#������

������ (�6�� #����� �
����,%��� ������

$�
����� �
���������,��������
�����"

��������$����
��#������$�����
���(��"

�*���� ���%������ $�
�� �� %���������� �

��$���%��(���*����#��������
�������$�"

�3�������(�
����������
�#����������"


���������%����������$�������������%��"

�������������
�����������%����������%��"

����������%��������������������������

����%����������#����������
"���������

����������$�
�������������������������"

6�������$�
������������������������$�"

�������$�������%�������
������������
�"

����������(�������,��M8������*��������"

������
�������%�$���%��������������'

����,%����$��������#�������������
����

��$����#I����
�������(�
�����������"

$������$��3��� �0����������������$���$�

������� +�#������������
������
���� �

%�����������$����� �=����)�����$(������

����'��
�6������$�������
������������

���$���������������������+����%������

+�
��������� �<�
��%�
�����������$��"

���������$������2�$���(�
�������%�"

��
���
�������#�����������������#��

�������
�H���
������1�$�����������������"

�,%�������$������(�
��� 

��	�����	��	
����

<����
���1���������*��������$�"


�����������$��3��������#������������"

����� ��� ������ ������ �
� �
�� ����

������$����$�
��������$��$�����������"

$���
���������������������H���� �4����"

�����$�
���
���������
�$������� ��"

$�������������
����������
������(�
�"

��������
���������3%������
�����������"

�3%����
�����������������
��%��������

�,��$�������,#��$������
�����
���������

������ �����
���'
�������������
��"

��� $��$�������� ����
��� ������� ��� �


�$����$��� ���
������� �� �������� ��

%�������(�
�
��$�
���(������������

���$�
�������'���
���� 

-������������������
�����$�������$�"

��������������������%������
�$������

���
�������#�����
���6��������$�
���"

���$�
������������������������ �4
�
L9N

��$��%�����-�������7B3�������$�������

�����$�����������������#����������#���"

�&�����������������
���������
������"

��
���������
�$�����������������
��

������$��%��������� �<��(������2��
�"

$����
�����������������
������������"



�����������	�
��

�N �����������	�
��
��
�������������	
�������
��
���������������������������
���

�����(��������$��%����%�����������$�
��"

���������������'�����������%�����������$�

�������������������������H�������
�"

���$�����8 ��)����������������
L9D���

�������������������
����������
���"

�1�$��� ���� ���
��
�� �
�	�� �����
�	����

#������ ��� ���$��������� ��� (�������� '

���$������� �� %����� ��� ��"������ � �

�����%��%�
�����������������$��$����

���������%���������������������������
���

����-������
��������
���������	�����


�
��
����
������
�����7����������$��$����

��� �������� +� 
������� ���� ���*�����8

�
9OD� � 4
� 
9
D�� ��� ������� ������ �

�����������������������������$���������

�������������� $�
� ��  ���
���� �� �



9>:��
���������
��!��

�����"�#��
����

%����� +� ������$��%�� �$��P
�$�� ��

7#�����
���������8�����$�������+�����"

�������$��$��������2�$���%���� �)����

������(��� �� ���H����� '� �
� ������ #��

�$�����
������������$��$�����������

����������������%������������3�#���$��"

�������
���$�
�����������#����������"

$��������
������������������#�������"

����� ������� ��� ���������"�������� ����

����/�?�����#����������������
������


�������� �7�����H�����'���������������"

���� � 4� ���� ����
��� ���� �
������ ��

�������#���'��������+�������������$�
��

���2�$�������������#����������������"

�H����� ��%�� ���� ������ ��� $��#������

�
������������$��$����������$���
��

��,#��$� 8�?���'���
�'
������������

#��� -����� ��� ��%��� ��� #������� ��

�����2�$���������$��������$���$������

�� ������� ��� $���$�2�$�� � 5������,��� �

�����
�$���$�������%���������������2�$��

��������%���$�	��%�	�������������������"

����������������������������������$��"

������$���$������ �4
����������+�#��"

��������������
������$���$����������"


���������$�����������$���
����������"

�����������
�������
�������#�������"

��%� 

-�$����
�-���������������������

�������������2�$������$���$����� �?��

����*�����-���������������7F����,��
�

�����������������$���$�����/8�4��������"

$��������������$����
����������$�
��

�������������$���$������������
�������

$������������� ��� ��$���$������� ���

���
����� �� ��� �����������&��� ��"

$���$������ � .�����$(�� �� =�������

�
9�L�� ��
���
� #��� �
�� ���������

���3%��� ������� ������ �� �������������

��$���$���������������
�������$���$�"

��������$���
�-������7���������������

��$���$��������
��%�����$��$��������"


���$����������
��;$��$�
�����
����

������������#�������������$���$���������

$��������������������
�����
�����#��

'���
������
���%��������������%��%�� 8

��	�����	��	�����

=���
��� ���$���������
��#������


������%���������
����������$�������

����
�����������������
�����3��������


���/

F�$��(�$�������$����$�
������


?������������0�,�����
��
��6������

������������������.�$�� �!
��������"

��$��������#��� ������������� ��$������

��$��%�����
��������������������������

=����K�$������������������ �4�����������

$�
�$������������������������
��$�


���� ��$����� ������� ���� �
�� �$������

�H���$�����#��������$��������6�
������"

����
��������� �.�$����������3��$���


��������������74����
����������������"

�� 8�;�����$����$����
�
9:O��
������

����$��#���������$��������$�����'����"

��������������������#�����������$���
��"

������������������$����������������$�"

������ �5��
��
��
������������������

.�$���'���%����$������������#�������


��������6����������
������� 

)�� ������ ��� .������� �
9L���� �

�����"�����������
���������%����������

�����.�$���������#�������$���$������'

������������ $�
�� �
�� ��������
� �

�$���$�������������#�����
������'���"

$���$�������
����$��3���� �.�$���$�"



�����������	�
��

�D�����������	�
��
��
�������������	
�������
��
���������������������������
���


�����������������-������
9
D����"

�����������������
�����#������������

��������������������
���������%�"�����"

������ 	��	����
&����� ���#���������� 63

#��������������
���������
������������"

�������� �����������������'���$��$���

����#����������'������$��� 

���������������������.�$�������&�

��$���������������������������-�������"

����������� ������������������������"

�����������#����������� ���
�������

������������������������$��������������%�

$���
�����$����������������������
��"

�� �.�$�����������������#���7�������

������'�%����������$�
���
��������#���

�����������'��
������
�����$�
���"

���,%��8�.��������
9L�� �����������"

�����
������������
��$���������������%��"

�������� ������������� ��� $�������� ��

'��$���������,���� �4����������������"

����$�
������3���
����������������������

�������������
�����������������������
"

�'
���
������
�������$��$����1�$����

��������������$�������$�
��'���$�������

$(�������

��������������������������$�
���"

�����������������������$��3�������
�����

��
���� �� 
������������ (���'��$� � 4



9
D�-�����������#�����������'��
����"

#���(���'��$��$�����$�������������$���

���������������'$�� �5�,������%��
����

.�$��� ���� $����������� �� ������ $�
�

�
�����������������$�����$�
��������"

��
��(���'��$� �5�������������
������

��6�����(���'��$�������#�����������
���

%����������'����"��"$������'���
����"

�� �4����#�������$���$������*�������6��"

����������+�������������������%��������

���"%������������*���������� �)�����

$���������'�$�
�
���(���'��$����$�����

��� �H%����� ������ �� �������$������ ��

%���$�������������������������'��������

����&�� 

4
�'���(���
��.�$����
9:J����"

�������
�'
�#���������������'�%����"

�����������'��#�����#�����%������%�����"

$��� �)��������2�$�������,��$�����$�"

��
���������$�
�#�������������6����
�"

��� $�
�� %����������� ����� '�� ��������

�#�����#��������������
���%���$�
��

��$���$����� �?�������$���
�����������'

#����������
����������$���������$���"

$����� �=����.�$���������������'������"


������$�
�������H���� �)����������


�����
����� '� �
�� �������� ��� $�
�

���3������
����$����
������7��������'

�
��������������
�8�����������������"

���������������������������� 

���������������)�
�������������$�"

�(��������5��$������� #��� ����$�����

$��$��������������$�������
����*�������"

��6������������� �������� �	�������������"

���������������������&������
3����������

����
���*�'� �
������
�������%������

����$������#����$����$�
��$�
���$��"

��� ���� �����
'���� ��� �����
����� ��

��� ������������������������������
� 

�#�������
�����$��(�$��������
����

������2�$��� ������������-������
L9D�

�����������������*	
+�

���	������*��,

�
�
#��� ����
-����.�<�
�� 5��$������

.�$���������������$���
�������������"

����#�����������������������������������

��������$���$������������$�����������'"

��� 

�� ��������� ������� #������ �� �����

#����
���6�������
�������������������

���� � .������� �
9L��� 
������ #��� 7'

���������������#�������6������������%����

#��������������$���������%�����
���"

���
��$��������������
������#���'��
�

�������%�� ������ ��� ������� �� ������ ��

������$���������"�(���
������������� 8

��(���'��$��
�������
���2�$�����

�������
�����%��$�������$�
������� �F

#��������(�
�
���������������������

#�����(���'��$����������
� �4�����������

�����
��(�������������������������� �)�

(����������������������������%��(3��
�

�����������������������������������$���

�������������'�������������$��,�� �=���

�����$��3������������$(����������������"

���������
�����
�������'����������"

6��������������� ���#����(������$����
"



�����������	�
��

�� �����������	�
��
��
�������������	
�������
��
���������������������������
���

���2�$�������%��$��3"������������'����"

%������$�
���������������
���� �
"

����,%�� �4�������$������������3�����'

�
�����$������������� ���������'����"

��������
����������������
�������� �F

�
�����������������#���$�����
�������

���3� ������� ��� ���"������ �$��$�� ��

������������� ��E������
�����������#��

���������*�'����������������$���������� 

E�������� +� #������� ��� ������ ��

��������.�$��������
�������������
��

#����
������������������������������

���#���������������������������3���
"

������������ �4���������$����%���
����"

���������������
���'������������������


�����������������#������#��������$��"

���
�������� �.�$��������������
���"

�����������%���������������
����������

������������#��������
����#����������"

��
���������
�
�
��������#�������

�������������������6���� �;���������.�$��

$�����������$��3������
���������������

������H���������
��
����
����
�#��

���$��������������������$�������� 

�	�����	��	�����

	�����������/
0
��
�'���
������"


���#���7��(�
�
�
�������%�%���
�

���'$��� ��� ������
��� $�
� �� ��
���

�
�����'$���������������
�#������(�"

���� ���� ���
����� �� ��� 
��
�� ��
��

���$�����8��<���2���>OO
� �<�
�������

��
���������������������$����������

��6���%���������������"����
���������

��$��2�$���������������&��������%�� ��

��
���#���������������,$�������#���������"

���� �� 
��$�� ��������� ��� $������� ��

����������� ������3%��� ��$�����������"

������������$�
��������$�������������"

������ ���� 
��$��� ��� �
�� ��6���%����

$������
�#��������������
������������
"

�����
��$��������������
��
�������"

����%��� �������� ������ � �� ������ ��$���

����������
���%�%������������
����"�

����������"���
�����������$�
�#����"

������#�������������$�
�+��������2�"

$��� ������
�������
�%�%�������%�"��

�$���$��������#����������#����������

�������������������������������3%��������

���$��������������������
�� ������"

����� ���������� .����� ;���� �
9�9�

�
� ������ ��������� �������� �� ���H����

$�
�� �
�� $��$��������� ��� ��
�� 

=���%����� �$���2�$����� ����$�������� �

�����%������������(����������������������


������%�����$�����������3%������������
"

���������H��
��
��
�������������
��

�
����,%���+�$���$�2�$�� �5�����������"


������������������������������$�����

���6���%�������
���'��
��%�%2�$���$�"


�
����������*� �����������������
��

��� �����
����� �� ��� ������� �� �� �'���

�
�����������������*��������
�$�����"

����������
�
��������������������$��"

����$�
����������#��������������������

�������� 

���������������
����
�������������"


�
�������$����������������������%�"

����&����������������������
��$��������

����6������������$����
���������������

���$��$������������������'��
�����'"

$�����������������������������6����$��"

�� �)��%��������'�$�
��.�$����������

�
�
9�> ������������3� ��
���� ������

+#�����#�������$���������$�
����6�����

����6�������
���������������$�
�����"

������
��(������$�
����������������

$�
������������������$���������������"

��������������6����� ���
�����������

�����3���������������$����������������

�������'�$�
�������$�������K�����#����

��������
��$�
���������������*�����%��� 

4����'���
��'���"���
�������
��������

������ � 4�$��(�
��� �
� ����
����

���������%� �	�
�
���-��������=������

74���%������
����
����������
���

�������$��������������� 

��$������
�
���������������$����

���������������%���"
��

=������
�#���'�#���
����$��3����"

���%����������$�����������������

5�������������+��$��%������������"

��
*%���+��������������������������%����



�����������	�
��

�:�����������	�
��
��
�������������	
�������
��
���������������������������
���

5�����������2�$�������#I����������"

���&��������$���������

5����� ������������ ������ ��������"

�2�$����������$��%���2�$����������

5����� ������������� ��� ������ ��

���������$3��$���

5��������H����������������������

������������

5�������$�����������$������������

������������$(3%�����

5�����6�������$������������������"

���� �� <���� ��� @��� 4��������� �� ��

<��3���� 

)������������%����'����$�������"


���������
�
 8

��$��$��������������
����
��


��
���#�����������
��������������


���H������ �����"�� � ��������3%��� �

�%����$���� ����������������+��������"

%�������$��������
���
���$�
�����"

������#�������� ��������������������


�������#���'����%������������� 

���	����


"����
� 1� '���� 1� *�2��
����2���� 1

*���
�
��2�1�3�
�	�
�	�

��
�����

'��� �����
� �
����
�
�� ��� (�	2� �	
��.� �


����
���� ���

	2�� *���
�
��2�

*�2��
����2����45	��������3����6�����

���
�3�
�	�
�	�.�'���� 
�)
� ��� ��
(������ �

	��
�����	�
�
��
�������
�
�	
�#��
���.

��������	��	

�@@�Q)�)���) �����
�7	�
�������
�
���.�0��

=������?�������-�������>OOO 

<�KKR��� < = �/
0
� �
� 
���
���
#�

�� % � N�

0��%������>OO> 

54!0��C������ �E����������?;Q!4.��C ���	�


���3�
�	�
�	��;; �0���=������B�������
9L� 

-K4!5��0 �<����������-����� �;��?�00�)��C ? 

"��
		���
��8������
����
�����!�#����
�5	���

��	��9�������5����� �K������C��������;
�����
9L� 

-K4!5�� 0 � =��6���� ����� �
�� ���$������

$����,��$� ��!:��% �;��K������C��������;
�����
9:: 

-K4!5��0 ��
9OD�����$(��������������������$�


�� ��$���$����� ��!:��%�� �L��K������ C�������

;
�����
9:: 

-K4!5�� 0 � �� ������������!:�� % � 
N�� K��� ��

C��������;
�����
9:N 

-K4!5�� 0 � �� ��$���$������ A� ;;;� 4
��&��

��$���$������ ��!:��% 
N��K������C��������;
����


9:N 

-K4!5��0 �;�����&���������
����������������

�!:�% �>O��K������C��������;
�����
9:� 

;@�K��C C �.���� �.�����H�����%���� �?������

=�������%���
9�9 

.�<�)�� C �'���(���
 � K��� ��� C�������� C����

S�(����
99J 

.�<�)��C ��������7	�
����(	
�;<=������������ 

K������C��������C�����S�(����
9L> 

.�<�)��C �!����7	�
��
�����>?�����
(���	
���

>@A;.

.�=.�)<B4��C���=�)	�.;0��C @ �B
�������	�

���������2������2�� �=������=!-��
9�L �E�������

"��

.

.�!K4)	��4 ������������
����$��3���� �	��� 

=(��������.�$���$ �5��
��% �J��0��%������
9LL 

);4	S0<B4��- �"�	
	� �0���=������<�
���(��

���.�������>OON 

=400���� - � =������
� ���� B���� � ;����	�

�
C
��� �K������C��������)�%�����������
9:� 

=.�	T� �"���������� � 0��� =������ ?�����

<�������>OON 

�������
����D���
E;<<F������

����"#
�,



E;<<F

����	��
���	���
		���
��8����=

����"����	� ��� :�		
��� >>FAE;<<;� 1

������

����-��
�G7�
�	����
�	

?<>H<,>><�1�!"3B"���E:"

�,����=�����

�I�
�.�
�.�	



�����������	�
��

�L �����������	�
��
��
�������������	
�������
��
���������������������������
���


